				DiGioia-Surburban Excavating, LLC			Trucking ng, Inc	Underground Utilities, Inc		Independence Excavating, Inc		Kokosing C Compa	onstruction ny, Inc.
Ref No.	Description	Quan.	Unit of Measure	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
01010*1	Mobilization	1	LS	\$496,594.00	\$496,594.00	\$250,000.00	\$250,000.00	\$700,000.00	\$700,000.00	\$200,000.00	\$200,000.00	\$400,000.00	\$400,000.00
01010*2	Bonds & Insurance	1	LS	\$81,765.00	\$81,765.00	\$150,000.00	\$150,000.00	\$600,000.00	\$600,000.00	\$205,000.00	\$205,000.00	\$75,000.00	\$75,000.00
01041*1	Above Ground Video Taping	1	LS	\$5,436.00	\$5,436.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$4,000.00	\$4,000.00
01088*1	Maintenance of Traffic	1	LS	\$55,527.00	\$55,527.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$125,000.00	\$125,000.00	\$100,000.00	\$100,000.00
01091*1	Wastewater Pumping	1	LS	\$30,272.00	\$30,272.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$12,000.00	\$12,000.00	\$30,000.00	\$30,000.00
02111*1	Selective Demolition	1	LS	\$8,292.00	\$8,292.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00	\$1.00	\$1.00
02111*2	Remove Existing Manhole	3	EA	\$960.00	\$2,880.00	\$1,250.00	\$3,750.00	\$2,500.00	\$7,500.00	\$450.00	\$1,350.00	\$1.00	\$3.00
02111*3	Pipe Removed (18" and less)	1,400	LF	\$53.00	\$74,200.00	\$20.00	\$28,000.00	\$10.00	\$14,000.00	\$19.00	\$26,600.00	\$3.00	\$4,200.00
02111*4	Pipe Removed (20" through 42")	85	LF	\$65.00	\$5,525.00	\$50.00	\$4,250.00	\$30.00	\$2,550.00	\$84.00	\$7,140.00	\$1.00	\$85.00
02111*5	Abandon Existing Manhole	1	EA	\$863.00	\$863.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$700.00	\$700.00	\$750.00	\$750.00
02111*6	Abandon Existing Sewer (LSM Fill)	1,780	LF	\$16.40	\$29,192.00	\$65.00	\$115,700.00	\$24.00	\$42,720.00	\$30.00	\$53,400.00	\$21.00	\$37,380.00
02111*7	Abandon Waterline	1,455	LF	\$2.50	\$3,637.50	\$4.00	\$5,820.00	\$2.00	\$2,910.00	\$6.00	\$8,730.00	\$1.00	\$1,455.00
02111*8	Allowance for Removing, Supporting, or Relocating Electrical Utility Pole	1	LS	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00	\$55,000.00
02111*9	Remove & Replace Guard Rail	60	LF	\$40.00	\$2,400.00	\$50.00	\$3,000.00	\$35.00	\$2,100.00	\$80.00	\$4,800.00	\$13.00	\$780.00
02111*10	Remove & Replace Chain Link Fence	60	LF	\$52.00	\$3,120.00	\$35.00	\$2,100.00	\$23,00	\$1,380.00	\$70.00	\$4,200.00	\$26.00	\$1,560.00
02111*11	Allowance for Columbia Gas of Ohio Facility Relocation	1	LS	\$350,000.00	\$350,000.00	\$350,000.00	\$350,000.00	\$350,000.00	\$350,000.00	\$350,000.00	\$350,000.00	\$350,000.00	\$350,000.00
02111*12	Allowance for Ohio Edison Gas Line Relocation, 12"	1	LS	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00	\$125,000.00
02111*13	Allowance for Century Telephone Facility Protection	1	LS	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
02111*14	Loop Detector Replacement	2	EA	\$878.00	\$1,756.00	\$2,000.00	\$4,000.00	\$1,200.00	\$2,400.00	\$2,900.00	\$5,800.00	\$1,500.00	\$3,000.00
02260*1	Tight Sheet Piling, 20'-25' Deep, Left-in-Place.	2,300	SF	\$52.00	\$119,600.00	\$21.00	\$48,300.00	\$42.00	\$96,600.00	\$30.00	\$69,000.00	\$1.00	\$2,300.00
02295*1	60" Lined DIP in 72" Steel Casing	119	LF	\$2,043.00	\$243,117.00	\$2,100.00	\$249,900.00	\$2,000.00	\$238,000.00	\$1,375.00	\$163,625.00	\$2,200.00	\$261,800.00
02485*1	Tree Removal (greater than 9" caliper)	8	EA	\$1,781.00	\$14,248.00	\$1,875.00	\$15,000.00	\$600.00	\$4,800.00	\$1,000.00	\$8,000.00	\$500.00	\$4,000.00
02505*1	4" Concrete Sidewalk	23,864	SF	\$4.65	\$110,967.60	\$4.00	\$95,456.00	\$5.00	\$119,320.00	\$4.75	\$113,354.00	\$8.00	\$190,912.00
02505*2	Curb Ramp, Design A	47	EA	\$2,065.00	\$97,055.00	\$1,500.00	\$70,500.00	\$1,115.00	\$52,405.00	\$2,100.00	\$98,700.00	\$3,000.00	\$141,000.00
02505*3	Curb Ramp, Design G	116	EA	\$516.00	\$59,856.00	\$500.00	\$58,000.00	\$615.00	\$71,340.00	\$525.00	\$60,900.00	\$2,500.00	\$290,000.00
02516*1	Concrete Pavement Replacement, (Type A)	10,921	SY	\$50.00	\$546,050.00	\$42.00	\$458,682.00	\$55,00	\$600,655.00	\$50.00	\$546,050.00	\$50.00	\$546,050.00
02516*2	Asphalt on Concrete Base Pavement Replacement, (Type B)	12,513	SY	\$76.00	\$950,988.00	\$58.00	\$725,754.00	\$58.00	\$725,754.00	\$87.00	\$1,088,631.00	\$60.00	\$750,780.00

				DiGioia-Surburban Excavating, LLC		Fabrizi Trucking & Paving, Inc		Underground Utilities, Inc.		Independence Excavating, Inc.		Kokosing C Compa	onstruction ny, Inc
Ref No.	Description	Quan.	Unit of Measure	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
02516*3	Concrete Drives and Aprons (Type A), 6" Thick	594	SY	\$47.00	\$27,918.00	\$40.00	\$23,760.00	\$85.00	\$50,490.00	\$61.00	\$36,234.00	\$53.00	\$31,482.00
02516*4	Concrete Drives and Aprons (Type A), 8" Thick	160	SY	\$53.00	\$8,480.00	\$57.00	\$9,120.00	\$95.00	\$15,200.00	\$70.00	\$11,200.00	\$61.00	\$9,760.00
02516*5	Asphalt Drive and Aprons (Type C)	115	SY	\$66.00	\$7,590.00	\$35.00	\$4,025.00	\$75.00	\$8,625.00	\$115.00	\$13,225.00	\$61.00	\$7,015.00
02516*6	Stone Drives and Aprons (Type F)	356	SY	\$13.15	\$4,681.40	\$10.00	\$3,560.00	\$10.00	\$3,560.00	\$14.00	\$4,984.00	\$5.00	\$1,780.00
02516*7	Concrete Curb	10,838	LF	\$2.10	\$22,759.80	\$4.00	\$43,352.00	\$10.00	\$108,380.00	\$10.00	\$108,380.00	\$9.00	\$97,542.00
02516*8	Mountable Curb	2,385	LF	\$2.10	\$5,008.50	\$2.00	\$4,770.00	\$10.00	\$23,850.00	\$7.00	\$16,695.00	\$9.00	\$21,465.00
02580*1	Double Yellow Centerline	0.86	MI	\$2,168.00	\$1,864.48	\$2,400.00	\$2,064.00	\$7,450.00	\$6,407.00	\$7,800.00	\$6,708.00	\$7,450.00	\$6,407.00
02580*2	Lane Line	0.98	Mi	\$1,652.00	\$1,618.96	\$1,900.00	\$1,862.00	\$3,485.00	\$3,415.30	\$3,700.00	\$3,626.00	\$3,485.00	\$3,415.30
02580*3	Stop Line	480	LF	\$4.60	\$2,208.00	\$5.00	\$2,400.00	\$12.00	\$5,760.00	\$13.00	\$6,240.00	\$12.00	\$5,760.00
02580*4	Crosswalk	2,199	LF	\$2.10	\$4,617.90	\$2.50	\$5,497.50	\$4.50	\$9,895.50	\$5.00	\$10,995.00	\$4.50	\$9,895.50
02580*5	Word on Pavement	4	EA	\$196.00	\$784.00	\$225.00	\$900.00	\$275.00	\$1,100.00	\$550.00	\$2,200.00	\$550.00	\$2,200.00
02615*1	8" Gate Valve	4	EA <sup>-</sup>	\$843.00	\$3,372.00	\$1,050.00	\$4,200.00	\$1,600.00	\$6,400.00	\$1,000.00	\$4,000.00	\$900.00	\$3,600.00
02615*2	12" Gate Valve	2	EA	\$1,659.00	\$3,318.00	\$1,700.00	\$3,400.00	\$2,400.00	\$4,800.00	\$2,700.00	\$5,400.00	\$1,800.00	\$3,600.00
02615*3	Restrained Plug	4	EA	\$310.00	\$1,240.00	\$350.00	\$1,400.00	\$400.00	\$1,600.00	\$1,300.00	\$5,200.00	\$50.00	\$200.00
02615*4	Remove and Replace Fire Hydrant	4	EA	\$3,228.00	\$12,912.00	\$2,950.00	\$11,800.00	\$4,500.00	\$18,000.00	\$5,000.00	\$20,000.00	\$5,000.00	\$20,000.00
02615*5	6" DIP CL-52 Pipe	50	LF	\$122.00	\$6,100.00	\$55.00	\$2,750.00	\$148.00	\$7,400.00	\$375.00	\$18,750.00	\$250.00	\$12,500.00
02615*6	8" DIP CL 52 Pipe	1,655	LF	\$64.00	\$105,920.00	\$70.00	\$115,850.00	\$70.00	\$115,850.00	\$90.00	\$148,950.00	\$65.00	\$107,575.00
02615*7	12" DIP CL 52 Pipe	845	LF	\$73.00	\$61,685.00	\$85.00	\$71,825.00	\$100.00	\$84,500.00	\$100.00	\$84,500.00	\$125.00	\$105,625.00
02615*8	Connection to Existing Waterline	12	EA	\$2,883.00	\$34,596.00	\$3,500.00	\$42,000.00	\$1,000.00	\$12,000.00	\$9,000.00	\$108,000.00	\$1,800.00	\$21,600.00
02615*9	Transfer Water Service	48	EA	\$1,251.00	\$60,048.00	\$1,050.00	\$50,400.00	\$900.00	\$43,200.00	\$1,100.00	\$52,800.00	\$2,200.00	\$105,600.00
02710*1	Curb Drain	13,223	LF	\$5.75	\$76,032.25	\$8.00	\$105,784.00	\$10.00	\$132,230.00	\$8.00	\$105,784.00	\$10.00	\$132,230.00
02720*1	Remove and Replace Storm Inlet	48	EA	\$2,757.00	\$132,336.00	\$2,450.00	\$117,600.00	\$2,200.00	\$105,600.00	\$2,400.00	\$115,200.00	\$2,500.00	\$120,000.00
02720*2	42" RCP, Class IV, 20'-25' Deep, Special Backfill Material	50	LF	\$396.00	\$19,800.00	\$450.00	\$22,500.00	\$200.00	\$10,000.00	\$550.00	\$27,500.00	\$600.00	\$30,000.00
02720*3	Type "A" Storm Manhole 0'-5' Deep	1	EA	\$3,097.00	\$3,097.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$4,300.00	\$4,300.00	\$2,500.00	\$2,500.00
02720*4	Type "C" Drop Storm Manhole 20'-25' Deep	1	EA	\$8,209.00	\$8,209.00	\$5,500.00	\$5,500.00	\$11,000.00	\$11,000.00	\$18,000.00	\$18,000.00	\$10,000.00	\$10,000.00
02730*1	Transfer Sanitary Service Connections	197	EA	\$263.00	\$51,811.00	\$100.00	\$19,700.00	\$100.00	\$19,700.00	\$45.00	\$8,865.00	\$1.00	\$197.00
02730*2	6" PVC, SDR 35, 5'-10' Deep	9	LF	\$49.00	. \$441.00	\$65.00	\$585.00	\$55.00	\$495.00	\$110.00	\$990.00	\$60.00	- \$540.00

				DiGioia-Surburban Excavating, LLC		Fabrizi Trucking & Paving, Inc		Underground Utilities, Inc		Independence Excavating, Inc.		_	Construction any, Inc.
Ref No.	Description	Quan.	Unit of Measure	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
02730*3	6" PVC, SDR 35, 5'-10' Deep, Special Backfill Material	60	LF	\$74.00	\$4,440.00	\$75.00	\$4,500.00	\$128.00	\$7,680.00	\$120.00	\$7,200.00	\$100.00	\$6,000.00
02730*4	8" PVC, SDR 35, 5'-10' Deep, Special Backfill Material	329	LF	\$87.00	\$28,623.00	\$88.00	\$28,952.00	\$118.00	\$38,822.00	\$135.00	\$44,415.00	\$175.00	\$57,575.00
02730*5	8" PVC, SDR 35, 10'-15' Deep, Special Backfill Material	400	LF	\$104.00	\$41,600.00	\$88.00	\$35,200.00	\$119.00	\$47,600.00	\$160.00	\$64,000.00	\$175.00	\$70,000.00
02730*6	8" PVC, SDR 35, 15'-20' Deep, Special Backfill Material	36	LF	\$251.00	\$9,036.00	\$88.00	\$3,168.00	\$120.00	\$4,320.00	\$155.00	\$5,580.00	\$175.00	\$6,300.00
02730*7	10" PVC, SDR 35, 10'-15' Deep, Special Backfill Material	206	LF	\$112.00	\$23,072.00	\$102.00	\$21,012.00	\$125.00	\$25,750.00	\$160.00	\$32,960.00	\$250,00	\$51,500.00
02730*8	12" PVC, SDR 35, 5'-10' Deep, Special Backfill Material	1,078	LF	\$85.00	\$91,630.00	\$85.00	\$91,630.00	\$77.00	\$83,006.00	\$105.00	\$113,190.00	\$135.00	\$145,530.00
02730*9	15" PVC, SDR 35, 5'-10' Deep, Special Backfill Material	663	LF	\$101.00	\$66,963.00	\$124.00	\$82,212.00	\$112.00	\$74,256.00	\$130.00	\$86,190.00	\$170.00	\$112,710.00
02730*10	15" PVC, SDR 35, 10'-15' Deep, Special Backfill Material	1,120	LF	\$115.00	\$128,800.00	\$124.00	\$138,880.00	\$113.00	\$126,560.00	\$170.00	\$190,400.00	\$170.00	\$190,400.00
02730*11	15" PVC, SDR 35, 15'-20' Deep, Special Backfill Material	987	LF	\$142.00	\$140,154.00	\$124.00	\$122,388.00	\$114.00	\$112,518.00	\$180.00	\$177,660.00	\$170.00	\$167,790.00
02730*12	18" PVC, Solid Wall, 10'-15' Deep, Special Backfill Material	1,018	LF	\$120.00	\$122,160.00	\$149.00	\$151,682.00	\$144.00	\$146,592.00	\$170.00	\$173,060.00	\$250.00	\$254,500.00
02730*13	18" PVC, Solid Wall, 15'-20' Deep, Special Backfill Material	2,141	LF	\$154.00	\$329,714.00	\$149.00	\$319,009.00	\$148.00	\$316,868.00	\$180.00	\$385,380.00	\$250.00	\$535,250.00
02730*14	21" PVC, Solid Wall, 10'-15' Deep, Special Backfill Material	1,560	LF	\$131.00	\$204,360.00	\$161.00	\$251,160.00	\$156.00	\$243,360.00	\$155.00	\$241,800.00	\$250.00	\$390,000.00
02730*15	21" PVC, Solid Wall, 15'-20' Deep, Special Backfill Material	982	LF	\$158.00	\$155,156.00	\$161.00	\$158,102.00	\$157.00	\$154,174.00	\$175.00	\$171,850.00	\$250.00	\$245,500.00
02730*16	24" PVC, Solid Wall, 10'-15' Deep, Special Backfill Material	792	LF	\$178.00	\$140,976.00	\$170.00	\$134,640.00	\$168,00	\$133,056.00	\$200.00	\$158,400.00	\$285.00	\$225,720.00
02730*17	24" PVC, Solid Wall, 15'-20' Deep, Special Backfill Material	83	LF	\$236.00	\$19,588.00	\$170.00	\$14,110.00	\$169.00	\$14,027.00	\$225.00	\$18,675.00	\$285.00	\$23,655.00
02730*18	30" Lined RCP, Class IV, 15'-20' Deep, Special Backfill Material	30	LF	\$285.00	\$8,550.00	\$388.00	\$11,640.00	\$639.00	\$19,170.00	\$410.00	\$12,300.00	\$500.00	\$15,000.00
02730*19	36" Lined RCP, Class IV, 10'-15' Deep	11	LF	\$667.00	\$7,337.00	\$388.00	\$4,268.00	\$476.00	\$5,236.00	\$430.00	\$4,730.00	\$520.00	\$5,720.00
02730*20	36" Lined RCP, Class IV, 15'-20' Deep, Special Backfill Material	2,633	LF	\$263.00	\$692,479.00	\$388.00	\$1,021,604.00	\$408.00	\$1,074,264.00	\$415.00	\$1,092,695.00	\$520.00	\$1,369,160.00
02730*21	42" Lined RCP, Class IV, 20'-25' Deep, Special Backfill Material	50	LF	\$605.00	\$30,250.00	\$553.00	\$27,650.00	\$300.00	\$15,000.00	\$580.00	\$29,000.00	\$1.00	\$50.00
02730*22	48" Lined RCP, Class IV, 15'-20' Deep, Special Backfill Material	170	LF	\$555.00	\$94,350.00	\$552.00	\$93,840.00	\$627.00	\$106,590.00	\$625.00	\$106,250.00	\$925.00	\$157,250.00
02730*23	48" Lined RCP, Class IV, 20'-25' Deep, Special Backfill Material	1,907	LF	\$573.00	\$1,092,711.00	\$552.00	\$1,052,664.00	\$621.00	\$1,184,247.00	\$565.00	\$1,077,455.00	\$925.00	\$1,763,975.00
02730*24	54" Lined RCP, Class IV, 15'-20' Deep, Special Backfill Material	1,092	LF	\$680.00	\$742,560.00	\$604.00	\$659,568.00	\$657.00	\$717,444.00	\$725.00	\$791,700.00	\$925.00	\$1,010,100.00
02730*25	54" Lined RCP, Class IV, 20'-25' Deep, Special Backfill Material	309	LF	\$654.00	\$202,086.00	\$604.00	\$186,636.00	\$658.00	\$203,322.00	\$750.00	\$231,750.00	\$925.00	\$285,825.00
02730*26	60" Lined RCP, Class IV, 15'-20' Deep, Special Backfill Material	722	LF	\$585.00	\$422,370.00	\$661.00	\$477,242.00	\$768.00	\$554,496.00	\$860.00	\$620,920.00	\$940.00	\$678,680.00
02730*27	60" Lined RCP, Class IV, 20'-25' Deep, Special Backfill Material	1,116	LF	\$589.00	\$657,324.00	\$661.00	\$737,676.00	\$777.00	\$867,132.00	\$890.00	\$993,240.00	\$940.00	\$1,049,040.00
02730*28	66" Lined RCP, Class IV, 10'-15' Deep, Special Backfill Material	75	LF	\$650.00	\$48,750.00	\$695.00	\$52,125.00	\$864.00	\$64,800.00	\$980.00	\$73,500.00	\$1,088.00	\$81,600.00
02730*29	66" Lined RCP, Class IV, 15'-20' Deep, Special Backfill Material	5,221	LF	\$685.00	\$3,576,385.00	\$695.00	\$3,628,595.00	\$838.00	\$4,375,198.00	\$965.00	\$5,038,265.00	\$1,088.00	\$5,680,448.00

				DiGioia-Surburban Excavating, LLC		Fabrizi Trucking & Paving, Inc		Underground Utilities, Inc.		Independence Excavating, Inc		Kokosing C Compa	
Ref No.	Description	Quan.	Unit of Measure	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
02730*30	66" Lined RCP, Class IV, 20'-25' Deep, Special Backfill Material	469	LF	\$930.00	\$436,170.00	\$695.00	\$325,955.00	\$839.00	\$393,491.00	\$2,000.00	\$938,000.00	\$1,088.00	\$510,272.00
02730*31	Remove & Replace Type "A" Manhole, 5'-10' Deep	6	EA	\$2,228.00	\$13,368.00	\$4,200.00	\$25,200.00	\$4,500.00	\$27,000.00	\$8,000.00	\$48,000.00	\$2,500.00	\$15,000.00
02730*32	Type "A" Manhole 5'-10' Deep	11	EA	\$6,109.00	\$67,199.00	\$4,700.00	\$51,700.00	\$6,800.00	\$74,800.00	\$6,200.00	\$68,200.00	\$8,000.00	\$88,000.00
02730*33	Type "A" Drop Manhole 5'-10' Deep	1	EA	\$7,109.00	\$7,109.00	\$5,000.00	\$5,000.00	\$7,800.00	\$7,800.00	\$7,000.00	\$7,000.00	\$8,800.00	\$8,800.00
02730*34	Type "A" Manhole 10'-15' Deep	19	EA	\$7,307.00	\$138,833.00	\$5,100.00	\$96,900.00	\$8,000.00	\$152,000.00	\$7,000.00	\$133,000.00	\$9,000.00	\$171,000.00
02730*35	Type "A" Drop Manhole 10'-15' Deep	6	EA	\$8,532.00	\$51,192.00	\$6,000.00	\$36,000.00	\$9,700.00	\$58,200.00	\$7,500.00	\$45,000.00	\$9,700.00	\$58,200.00
02730*36	Type "A" Manhole 15'-20' Deep	10	EA	\$7,748.00	\$77,480.00	\$5,800.00	\$58,000.00	\$10,000.00	\$100,000.00	\$7,500.00	\$75,000.00	\$9,800.00	\$98,000.00
02730*37	Type "A" Drop Manhole 15'-20' Deep	2	EA	\$7,779.00	\$15,558.00	\$6,300.00	\$12,600.00	\$12,000.00	\$24,000.00	\$8,000.00	\$16,000.00	\$9,900.00	\$19,800.00
02730*38	Type "A" Junction Chamber Risers, 5'-10' Deep	5	EA	\$2,938.00	\$14,690.00	\$2,900.00	\$14,500.00	\$3,000.00	\$15,000.00	\$3,200.00	\$16,000.00	\$2,200.00	\$11,000.00
02730*39	Type "A" Junction Chamber Risers, 10'-15' Deep	8	EA	\$3,011.00	\$24,088.00	\$3,000.00	\$24,000.00	\$3,100.00	\$24,800.00	\$2,500.00	\$20,000.00	\$2,500.00	\$20,000.00
02730*40	Type "B" Manhole 10'-15' Deep	3	EA	\$11,486.00	\$34,458.00	\$7,000.00	\$21,000.00	\$15,000.00	\$45,000.00	\$12,000.00	\$36,000.00	\$12,900.00	\$38,700.00
02730*41	Type "B" Manhole 15'-20' Deep	7	EA	\$10,610.00	\$74,270.00	\$7,400.00	\$51,800.00	\$17,000.00	\$119,000.00	\$12,000.00	\$84,000.00	\$13,500.00	\$94,500.00
02730*42	Type "C" Manhole 10'-15' Deep	1	EA	\$16,868.00	\$16,868.00	\$8,000.00	\$8,000.00	\$16,000.00	\$16,000.00	\$16,000.00	\$16,000.00	\$15,800.00	\$15,800.00
02730*43	Type "C" Drop Manhole 10'-15' Deep	1	EA	\$12,523.00	\$12,523.00	\$8,900.00	\$8,900.00	\$18,000.00	\$18,000.00	\$17,000.00	\$17,000.00	\$10,000.00	\$10,000.00
02730*44	Type "C" Manhole 15'-20' Deep	3	EA	\$13,557.00	\$40,671.00	\$8,500.00	\$25,500.00	\$21,500.00	\$64,500.00	\$18,000.00	\$54,000.00	\$17,000.00	\$51,000.00
02730*45	Type "C" Manhole 20'-25' Deep	2	EA	\$21,686.00	\$43,372.00	\$9,700.00	\$19,400.00	\$22,000.00	\$44,000.00	\$19,000.00	\$38,000.00	\$10,000.00	\$20,000.00
02730*46	Type "D" Manhole 15'-20' Deep	3	EA	\$15,658.00	\$46,974.00	\$10,600.00	\$31,800.00	\$20,000.00	\$60,000.00	\$20,000.00	\$60,000.00	\$22,000.00	\$66,000.00
02730*47	Type "D" Drop Manhole 15'-20' Deep	4	EA	\$17,317.00	\$69,268.00	\$13,400.00	\$53,600.00	\$22,000.00	\$88,000.00	\$25,000.00	\$100,000.00	\$25,500.00	\$102,000.00
02730*48	Type "D" Manhole 20'-25' Deep	4	EA	\$15,769.00	\$63,076.00	\$12,000.00	\$48,000.00	\$19,000.00	\$76,000.00	\$22,000.00	\$88,000.00	\$23,000.00	\$92,000.00
02730*49	Type "D" Drop Manhole 20'-25' Deep	7	EA	\$18,268.00	\$127,876.00	\$15,000.00	\$105,000.00	\$23,000.00	\$161,000.00	\$28,000.00	\$196,000.00	\$26,500.00	\$185,500.00
02730*50	Type "E" Manhole 15'-20' Deep	1	EA	\$16,847.00	\$16,847.00	\$11,700.00	\$11,700.00	\$30,000.00	\$30,000.00	\$22,000.00	\$22,000.00	\$26,500.00	\$26,500.00
02730*51	Type "E" Drop Manhole 20'-25' Deep	1	EA	\$19,359.00	\$19,359.00	\$13,900.00	\$13,900.00	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00	\$26,500.00	\$26,500.00
02730*52	Type "F" Manhole 15'-20' Deep	6	EA	\$13,023.00	\$78,138.00	\$7,000.00	\$42,000.00	\$15,000.00	\$90,000.00	\$9,100.00	\$54,600.00	\$17,000.00	\$102,000.00
02730*53	Type "F" Drop Manhole 15'-20' Deep	8	EA	\$14,534.00	\$116,272.00	\$7,500.00	\$60,000.00	\$19,000.00	\$152,000.00	\$12,000.00	\$96,000.00	\$17,500.00	\$140,000.00
02730*54	Type "F" Manhole 20'-25' Deep	2	EA	\$14,874.00	\$29,748.00	\$7,900.00	\$15,800.00	\$16,000.00	\$32,000.00	\$9,000.00	\$18,000.00	\$17,000.00	\$34,000.00
02730*55	Type "F" Drop Manhole 20'-25' Deep	11	EA	\$17,230.00	\$17,230.00	\$8,300.00	\$8,300.00	\$21,000.00	\$21,000.00	\$18,000.00	\$18,000.00	\$19,000.00	\$19,000.00
02730*56	Connection to Existing Manhole/Structure	10	EA	\$1,144.00	\$11,440.00	\$800.00	\$8,000.00	\$1,000.00	\$10,000.00	\$5,800.00	\$58,000.00	\$500.00	\$5,000.00

T	Die rependien Die Opening Date. Or not												
				DiGioia-Surburban Excavating, LLC		Fabrizi Trucking & Paving, Inc		Underground Utilities, Inc		Independence Excavating, Inc.		_	Construction any, Inc.
Ref No.	Description	Quan.	Unit of Measure	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
02730*57	Bulkhead and Abandon Existing Sewer	57	EA	\$383.00	\$21,831.00	\$250.00	\$14,250.00	\$500.00	\$28,500.00	\$300.00	\$17,100.00	\$400.00	\$22,800.00
02901*1	Lawn Restoration including Fine Grading, Seeding, and Mulching	1	LS	\$95,228.00	\$95,228.00	\$154,000.00	\$154,000.00	\$40,000.00	\$40,000.00	\$83,000.00	\$83,000.00	\$150,000.00	\$150,000.00
03310*1	Cast-in-Place Structures	584	CY	\$1,704.00	\$995,136.00	\$2,800.00	\$1,635,200.00	\$1,700.00	\$992,800.00	\$2,600.00	\$1,518,400.00	\$2,150.00	\$1,255,600.00
03310*2	Fill Concrete	173	CY	\$361.00	\$62,453.00	\$250.00	\$43,250.00	\$300.00	\$51,900.00	\$300.00	\$51,900.00	\$260.00	\$44,980.00
03310*3	Concrete Transition Collar	5	EA	\$2,008.00	\$10,040.00	\$3,500.00	\$17,500.00	\$600.00	\$3,000.00	\$800.00	\$4,000.00	\$250.00	\$1,250.00
	TOTALS				\$16,121,978.39		\$16,320,224.50		\$18,664,670.80		\$20,323,471.00		\$22,380,024.80